) (1) 14.20.25,29, _2  »ula [Aseusidl vudl oouL y3l.

(A) 31 (B) 33

(C) 34 (D) 32

(2) 121,100, 81, 64, _ 2 »ula Rseuwsizll vudl o2ut Y3l
(A)25 (B) 49
(C) 36 © (D)47

(3) sl RM:iuz: 2 wula Rseidl vudl wou Y3l
(A) M5d ; (B) 45112
(C) B (D) wAdlelz -

@) 2,5,10,17, 2 »ula Rseuniall vudl ouL y3i.

(A)26 (B) 28
(C) 27 (D) 25
yaq: A un}at 12 sl @i wa AMALHOUER AL 53 WHEL Msal. AR [Asedinidl il (a5
yAe $3.
(5) BAG
(A) GAB (B) GBA (C) ABG (D) BAG
(6) ICE
(A) CEI (B) ECI (C)IEC  (D)CIE
(7) ROHAN
(A) AHNRO (B) AHRNO
(C) AHRON (D) AHNOR
(8) GOAT
(A)AOGT (B) AGOT
(C) TOGA (D) TOAG

(9) 2l vuglan sear AR Y ? '

(A)4 (B)5 - ©3 A
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(10)  »u¥a 2uglani seau Bisia s ?

(A)6
©)4

(B) 3
D)5

g AL AR uslHl sofl suy ws ua vusld 2uldl 9 7& 2ugla-l ‘e 2ugla’ 2ule [Asadnidl

a4l

an 1

(12)

(A)

©)

13 (8

(14 |Z

(15) A 51E AR sl ol Wi Bad wedl sdl AR 28 ?
(A dMar

(C) e
(16) et &t 53 D12l B, At Aett 52 Gl . il Alell Glzy S ?

(A)

{0

(A)
(©)

(A)

(©)

=

N

(B)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

(B) a9z

(D) 2z4R

>|

8

L

y 2

Z

(A) 2= (B) ¥l-iL
(C) d-u (D) 518 &t <l
- CEET23-A (4/16)



NSy, .............. , 41 viudl ooyl 12 d1oy ot SiLkl.

(A)28 ' (B) 29
(©) 31 (D) 35
(18) [t - wnedle = o« 7 2ule wsue Ruadl ouist dloy [Rsey yaie s3.
(A) A89 (B) 3uls2
(C) R~ (D) A3,

garL sl e w2 Wallul €35 wadi wi [Asedl sulas. % 14 At [Asedl sidA 516 dd Asmda
89 2 2 [Aseu a2 Wl 8 dl 2143 usdl [Asey skl

- (19)

(A) Baidlez (B) Hl2z2
(C) Bz (D) BiRefler

(20)
(A) €15l (B) 332
(C) didlelie : (D) 4

en
(A) HIRRL (B) #53%
(C) 3 (D) g

22) ' ' '
(A) ¥3AR (B) duud
(C) el (D) 12

(23) 15 S oMetel 53 Sl 17 31 21 40l 3430 B el Sl s Seau Reull>il sl ?
(A) 50 : (B) 51
(€17 (D) 52

(24) % 5L el eAN ElU B ?
(A) 10 v (B) 100
(C) 1000 (D) 10000

(25) (13 Uhl 25 2ugld S5 sRp YLl W D q skl

oA " [ @

© ' (D)
[
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(26)

(27)

(28)

(29)

(30)

(3D

(32)

(33)

(34)

ell2rmidl sul wlReAL oSl A we-uell el us ey ?
(A) b&S&e (B) a1z
(€)= (D) 3342
2.5 scusl (MlAe sedl ay ?

(A) 250 (4ln2 (B) 150 [l
(C) 180 (=2 (D) 90 ([m2

%A 6L AV LDULAL UL 28 Vit A5 6 S1H dl d 6L Avdiil 59 ¢l ?

(A) 12,18 : (B) 13, 19
@atar - - (D)12, 16
T L Yoy [asey al vudl woul 33.‘1.‘

(A) 72 (B) 90

(C) 81 (D) 99

T T R e e 2L Yoo U1y [Asey wais 53
(A) Bt : Ristsiz ' (B) Ut : W

(O ECTETREIED (D) AUls : 519 wély

als adall daddl 4.5 At 9. dxi Y3u 2 il WL A B, dl a8l w2l Ao sedl
8gl ?

(A) 2,05,000 (B) 2,50,000
(C) 2,25,000 (D) 2,15,000

2UAL Youai sesterll vl sedl iy ?

>< (A)4 (B)3

(€0 (D)2
A w5 Bl 1al Bod 30 120 €ld dl % (allaus #auedl Bud secdl iy ?
(A) 40 (B) 30
(C) 60 : (D) 80 .

12 24 30 L WML 24989 Al s9) +4l ?
(A)2 _ (B) 3
(C)4 - (D)5
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(35) S 1 3RuHAL el (L & ?

(A)>9 (B) /)
(€) >0 (D) /9
(36) 25 dola-l WRMM 40 A 8. A a-ll wulous 5 A+ €11 dl d otz &Asu seq w7
(A) 50 4L, Al ' (B) 75 4. ¥4l ;
(C) 60 L. 31, (D) 200 L. A3l

(37) ¥ wuaudl g2 HEA 175 (@22 g4 quad 9. dl 91-2022 4l 19%12 2022 Hu 32 g4
quRLy 3l ? ' :

(A) 1750 [&22 (B) 1350 [&22
(C) 1050 (@22 (D) 1250 [@2=
(38) 6.5 .Ml cieR sean Hlez iy ?
(A) 650 ¥l (B) 6500 (31
(C) 6500 {1+ (D) 6500 {122
(39) s 2+ s salsHi 65 Bl 2id 1L D, 2L 21 i salsil s2g idR s14aL?
(A)315 Bl (B) 375 B3+l
(C) 335 (34l ' (D) 325 (34l
(40) MWL £2U% 6 5Al5 YA 9. dl visulluilL seal saus ydl sal ?
(A) 42 sals (B) 45 5415
(C) 48 salls (D) 36 sels
41) Sl By Aill auiz 9 7
(A) 1 300t 11 Rass1 (B) 2 3[0ut-tL 5 Rsst
(C) 5 30 2 Rasst (D) 10 30l 1 Russt
(42)  uandl ol HiuA s34 HieHdl Wil 3153 54 B 7
(A) WA (B) Belaux
(C) 22 (D) As=
(43) 6 Al2oysell Bud vigsH 3RA1 50 27 3041 30 8. dl eivte(l Budl dslad sedl ain ?
(A) 3Mu1 80 (B) 3(Qu1 20
(C) 321 50 (D) 301 30 .
(44) s Bsiadl e ol 3w 10 3L, 12 3l 244 13 4 8. dl o Bisial eed 2y s2g
qy ?
(A) 35344l (B) 45 Al
(C) 25 3+l (D) 48 34l
(45) 9872 +8 HIUSIR S3U.
(A) 1234 : : (B) 3412
(C) 1134 (D) 1334
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(46)  UIRSAR AlAHL 35 A 2isHi 3l Ao @vin ?
(A) 4701 : (B) 4107
(C) 7401 (D) 1407
(47) 8321 (sl 531)
+ 8485
(A) 15806 (B) 16866
(C) 16806 (D) 16756
(48) 10315 - 1245 (ougousl 531)
(A) 11560 (B) 1070
(C) 9070 (D) 8070
(49) 15 3HHL Wi ABil 9. % il 215 Sl UI” AL 253 52 2 e35 @5t 1 gsdl d dl
£35 UHU-L 2@l B412L VLMl ssAd ?
Ay (B) /s
© ' D) 13
(50) 5165 wet oin iglarl ol suagliel il qraouA g sea ?
(A) YRR (B) éi59
“(C)uwdly (D) 3
(51)  13ENMD= S (3peusiz 531)
(A) 1684 (B) 1584
(C) 1320 (D) 264
(52)  i1222 MMl AR suasit il Yasi-l qva A 2ta .
»eU- 10 sledl - 15
Jze - 05 Sdd - 20
FRelBL URAL Yaesi-l dval 56 dd ealdl asiy ?
(A) Sde 53l 341 Yisl (B) 5124l 53l oflo &1Ll
(C) S 5l 6HBIL Yelsl (D) B8 5l AL LWL
(53) 123456 ui 3+l 224 Bud Sedl ?
(A)300 (B) 30000
(C) 3000 (D)3
(54) el -l suglas Ava S ?
(A)0 (B)1
(C)-1 (D) 0.1
(55) 40 Al Bsuitl ado-il i sedl a ?
(A) 20 %3l (B) 20 Hl2z
(C)soler - (D) 80 23l
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(56) R »isl Al Al vl wedl dred 2uadl v 569 7.

(A) 111 (B) 1111
(C) 1001 (D) 1000
(57)  Avaiii-l 59 Adui usdl dval oflew Al s3di 200 Fedl a9 ?
(A) 300, 500 (B) 400, 300 '
(C) 535, 435 ; (D) 805, 605
(58)  ~llA-xidl 59 Avul Uz e il el 922 20ddl 9 7
(A) 180000 (B) 18095
(C) 1999 (D) 20001
(59)  Ala-idl sut 60.08 s qull usu ?
A)6+8/, (B) 60+ 8/,
(€) 60+8/100 (D) 6+ %1900
(60) % vt 3 a3 o3l ausiy ddl vy stk
(A) 31 (B) 13
(C) 21 _ ' (D) 23
(61) Wi dqilo@ed ............. -l woL auall 2wl vuelosour Wi oy [Asey waie 531,
(A) adll (B) waL
(€)% (D) i
(62) SASA A 58 ...eeennnnn. A uel o e tud 8, wielaroul Hiz 4oy [Asey uaie s3U.
(A) 241 (B) %
(C)ua (D) a4l
(63)  wazdl aoe-dl vy Al sdl 44l ?
(A) SRR (B) 591
(C) (atia (D) 2194l
(64)  Algwa-dl wes udid un g ed ?
(A) &l (B) 4sllel
(C) easl 3 (D) Heledl
(65)  dxRL Al Balarl oiogul »iedl ynal 12 si-l dus sl ?
(A) 3R ; (B) s[34l
(C) e (D) H1=l
(66)  HIoUHL Hidl ulaat wedl 3z w3 ?
(A) Ay (B) dadl
(C) el (D) 3224
(67) el Asell Feual.
| (A) dollud ' : (B) dlGiadt
(C) albiud (D) dltiyz
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(68) WAL 519 o= 89 7
(A) BR® (B) 11z
(C) sl (D) 1l
(69) [aoy wos-l wuiell soe sul 3l 7
(A) ®2Laln (B) e1d
- (C) Su2 | (D) WML
(70) 12 sudal wolHidl Aot sl 53 WHSLAL Alal U6E 541,
(A) s61dz (B) 24
(SECTR. ' (D)%
(71) % 2ot 518 dussn oS, @ 3 yeidl »lom yud a1 g 58 & 7
(A) A3 ‘ (B) ueti4
(C) Buiue (D) RNzt
(72) el <€l olon suL AR Bl 20d 8 ?
(A) 32U _ - (B) ¥4l
(C) L (D) uadl
(73)  wusia aoesdl wueudl woe A7 :
(A) 3ert (B) ®ia-t
“(C)uan - (D)
(74) uReEl0A WA g €lu s ?
(A) wsll-u sist ' : (B) &4
Ol (D) eiaél
(75) Y sSRwHiGAs? :
(A) G2 (B) ulu
©yd ; (D) slel
(76) 34l su1qa Gu Gy ?
(A)as (B) iisil
(C) 333l (D) sl
(77) g g aa Xy ?
(A) dlsiill (B) 311
(C) sl (D) Uit
(78) Sl a2 ed g ?
(A) €lfia (B) &3l
(C)da - ' (D) €idl
(79)  HEIGURAHL AL i 1 g ed 7
(A)afla (B) [-us
(C) yealr (D) 2818t
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(80)  HREIR UZa~Ll % 541 SUHMHL 2l el ?
(A) 534E (B) adleal
(C) -tl3ule : (D) 54sd%
(81)  Ala-uHidl 59 ouotd wd o ?
(A) Acd¥ 4UEL wielll Aue 52 9. (B) -lst wiell-l 20514 ela-udL g2 69,
(C) 59 il 8ol Alg A oit 52l +4l. (D) By wsll-l wdu dLdl t 9.
(82)  llA-uniedl 54 [Qaue viig 9.
(A) Al 3l €LdL, el 9912 €l 9. (B) Uritedl 233l §& ol Uril €ld 69,
(C) HlotSaHl weL 334d 2L a5 . (D) 334 3l Helt %331 .
(83) -5l bzal visl €l 9.
A)4 (B)S
(€6 (D)7
(84) -l A5l AL
(21) (=)
a. vo Al W (i) ARA~
b. el ARAUIE U3 (i) (s
c. cldlHiouag uz (i)  #-udl
d. Yo% 635 4 (iv) U4
(A)a-iii,b-iv,c-ii,d-i (B)a-i,b-iv,c-ii,d - iii
(C)a-iv,b-1i,c-iii,d-ii (D)a-i,b-ii, c-iii,d - iv
85)  lA-iell g o5 W 7
(A) €ng3 (B) stoflr
(©) [&a (D) 2424l
(86) @ 515 512 A4 © dl o sl W Aas) ?
(A) Bslns (B) 3412
(C) 3% (D) =il
(87)  Al-niell 56 azg uGuiell otadl 2l ?
(A) B3z (B) 2ledl
(C) WG (D) yala
(88) U2, dxa, 53 2UdHa ad w2 A UL 54l woe auin & ?
(A) CNG (B) LPG
| (C) virlloaet (D) 5@l
(89) o1 GuR vllag $4 54 & 7
(A) Hgauadl (B) Jelot
(C) 544 (D) 44l
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(90)

oD

(92)

(93)

(94)

(95)

(96)

97) .

stelll oI 5L AR UL 20 69 7

(A) #elRy (B) <93

(C) ol (D) %1g(34

HS9L AUl WATYR USHL 28 9. A3t [AAURHL BT ARAIEAL 51281 Retl>IL RIS &S 214l
6. WRellell AARSH W12 A2 54l sRue 2l AGH?

(A) 43l A5l Ydln Ra-ul (B) 2L vy 2135 Wil el
(C) R ol s34 (D) sal™it i

eRuHl el Hodloll 2 dal 12 2 H- sl Had 9 7

(A) Hssdl2Al wellHi {206 2AUEFt AH E 9.

(B) el A dar well-l 2wdl uR »ud .

(C) Musdlail elZuts Aleaxizdl 2154 Had 9.

(D) HieodlAlA A1 ddl 112 Sl 233 widl -4l

Al 2iveul Al g2 4 & 7

(A) Glad [Rau ~ (B) Gadl 51218
(C)ds - | (D) dlen
os2Ruirl Heedl AlAAnidl g o e ?

(A) 19 (B)iusad
(C) Was (D) edl

u2 RulRi-suiell 2itet S sl 8. v 3l A vioR usdl 3 S Alsell (dlls) @il s ?
(A) 288l AL a1 dly '
(B) 2iaeL il v 2iun dl

(C) et St AR seii dly

(D) 31 Ralawsafl 2uawi Al Hodl - dwd dlE.

GeitouHl g2l 221 5Wsl Ul Sl #FE 3-L SUL AW HI2 UL AT 7
(A) 820 =12l 3o14t 5UsE 52l wuest 311 sus] Yusiag AR wuad 52 6.
(B) %38 321l 5431 AL €U .

(C) dde 3311l SU3L Udal A SlU .

(D) #5% 221l Ui Al 1l usiu ©.

HELALE i Y A2 iR MUl MRl 419y 54 54l 9 7

(A) Belfaer - (B) BelH{l2z

(C) Mdlfa2z (D) FdlHlez
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(98)  Sud=l wsdzll oll-inl @il wrul G3d waal W2 AR qag AT ?
(A) UM~ Aine (B) dUM-L WU
(C) Ml PRYRA (D) Uil ¥YAA
(99) a2l M2 8L NAunidl § RuBid s RS ?
(A) oL @13l il Sl ay wig (B) #2l 538 AT,
(C) A8 AR AR 5U3i sedal AT, (D) v a4l ASA.

(100) ~fR-uxioll 54 %y eRul WA Aeedl A3dg & ?

(A) Huza (B) Grizuza
(C) Ve (D) 33U
(101) ﬁﬁi’m_ Y= I T WS YgEIY |
(A) #S - R (B) | - 9
(C) ¥ - J= (D) 321 - 9
(102) fau T S0 9 ve=if |
r (A) §=0 ¥ | (B) o9 iy |
(C)smArE (D) 1 TIf |
(103) aa%[}aﬁatgvf?ﬁm
o _
(A) 92 | (B) T&d |
(C) W& 9r=d ¥ | (D) Y& £ |
(104) i e Tron wreet IwiTT A oo <o 91 f i |
URE M B T A W A (&)
(AT _ B)TE@ A
(G RGN : © (D)
(105) = fou 7T W= %t 7T e eIt |
(A) AT - gLseudl (B) FEET - oi1eaug
(C) efahreT - dusies (D) faam - Gswdlan
(106) ﬂ%ﬁqwﬁﬁaﬁaﬁéﬁ%ﬁmaﬁmvﬁgmﬁm
(A)R-26 (B)R&-16
(C) s - 14 (D)% -9
(107) 4R = qoi Fifera | '
T4 T ....... e
A)RVREI (B) &1 41 |
C)@WEI (D) & 4 |
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(108) 3% Td VI8l T S T |
(A) 8% - 3T9H

(109) T Tom i gfd i |

(110) Tl Srg 9@=NAg |
(A) TaREEA! - AR
(C) 31eT& - »adl

(B) 2& - BeArd
(D) % - AdE

(B) ¥4
(D) Fm

(B) TR - w4
(D) @ - 44

(1) 02 »ule ARl el 215 WAL kL.
(A) Elephant (B) Elephont
(C) Alephant (D) Alephont .
(112) Box d ctgaat g ? £
(A) Boxes - (B) Boxs
(C) Boxy ) (D) Boxie
(113) These are SiX ........cooeee- .. on the table. (vuel %ou1 y3L.)
~ (A) pencils (B) marble
(C) ball (D) box

(114) Where is Kavya going ? to the School <4 GulaL 59 Wy aus ol

(A) Kavya is to the School going.
(C) Kavya to the School is going.

(B) Kavya is going to the School.
(D) Kavya is to School the going.

et s 1A uslui vudl o yra sdl [Qsa wwie s ?

(115) oludy : flooring :: &9l : ...oeevnnenn.

(A) roof
(C) bowl

(116) Apple, mango, watermelon, ..................

(A) Potato
(C) grapes

(117) This is a leaf. GlgaA-14L oiig AU ...

(A) These are leaves.
(C) These are a leaves.
(118) Bus:Driver:: Plane: .....cc..co.....

R

(B) Self
(D) Celling -

.......

(B) onion
(D) Bringle

.............

(B) These is leaves.
(D) These are a leaves. «

(A) Teacher ~ (B) mason
(C) Pilot - (D) Carpante
(119) e gh
(A)e (B)u
©C)o (D) i
(120) White X black :: Narow X :...........
(A) Near (B) Short
(C) Wet (D) Broad
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(61)

(62)

(63)

Many children brought .................. cameras on the picnic.

Put proper possessive adjective in the blank.

(A) there (B) their

(C) our (D) you
TR for home just now. Put a verb form.

(A) has left (B) left

(C) is left : ) (D) leaves
Find the odd one out from the following.

(A)Shiny " (B) Gleaming
(C) Smooth (D) Bright
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(64)

(65)

(66)

(67)

(68)

(69)

(70)

(71)

(72)

(73)

Select a word nearest in meaning to the word : advent

(A) beginning (B) departure

(C) start (D) arrival

Put proper pronoun in the blank. I am a student and these books are.........
(A) my (B) ours

(C) mine (D) yours

Allbetis. o o= :

Choose the correct option.

(A) a collection of sticks (B) a collection of ships
(C) a collection of bc;oks (D) a group of persons
Mukesh is often compared ............... Manish.

Put proper proposition. :

(A)to (B) with (C) by (D) at
What is the plural of word : dwarf

(A) dwarves (B) dwarf

(C) dwarfes (D) dwarfs

| P e of bees. Put proper collective noun.

(A) gang (B) swarm

(C) flock (D) herd

The chair faded. warm and in some places even torn.
Identify the underlined word.

(A) adverb (B) noun
(C) adjective (D) verb
Select sentence nearest in meaning.

I will help you cope.

(A) I will do things for you. (B) I will add to your confidence.
(C) I will make you police. (D} I will help you face the situation.
My mother .................. when my uncle came to my house. Put proper verb fom.
(A) was cooking (B) cooked

(C) cooks (D) is cooking

Akbar ruled in Delhi.

Select tﬁe most appropriate question for the underlined word / phrase as answer. |
(A) What did Akbar rule? (B) Where does Akbar rule?

(C) When did Akbar rule? (D) Where did Akbar rule?

CEET 23-A
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(74)

(75)

(76)

(77)

(78)

(79)

(80)

Select an antonym for a word : efficient

(A) unefficient
(C) nonefficient
If it is 9:45 in the clock then it is called

(A) quarter past ten

-(C) quarter to nine

Find out unmatched pair of synonyms.
(A) rage - anger

(C) drag - push

select correct spelling

(A) trigonometry

(C) trigonametry

(B) inefficient
(D) ilefficient
(B) quarter to ten

(D) quarter past nine

(B) vision - sight
(D) sacred - holy

(B) triganometry
(D) triganemetry

Find out improper chain of degree words :

(A) Tall - Taller - Tallest
(C) beautiful - beautifuler - beautifulest

(B) Rich - Richer - Richest
(D) Strong - Stronger - Strongest

If you work hard, you .........cc.c..... good marks

Put proper verb in the blank.

(A) get (B) have got

(C) got (D) will get

How many days .................. a week? Fill in the blank with correct word.
(A) has (B) will have

(C) have (D) had



(111) 4G diznigl 56 il ot «t2fl ?
(A)dedl (B) yald
(C) e (D) 3wl
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(112)

(113)

(114)

(115)

(116)

(117)

(118)

(119)

(120)

guniedl g el og ?

(A) el (B) 581
(O)vllz (D) AHlL
g S ugadll A ... 2o [Rdl »udl 5.
Fill in the blank with proper option

(A) Ras-l (B) [B1&1s+
©Rasy (D) Riaisell
A1l ol etetl WAL AU Rl g ?

(A) HIHL (B) elel
(C) 3L (D) 5151
AA-unidl 56 Bur i 9 ?

(A) it M @il 4l oy @ wal.
(B) il wiell-l Risid - 52ql.

(C) eIl $2U1A Y2 - A4,

(D) 513191+l 6218 534l

A1l HiRdl - UL e g Wiy ?

(A) B3] GHRU 524l (B) Gl »udl »dl
(G ECTRICARICET (D) 21l 524l
a2l dl eRueld dldl @kl 112l - AL > o 2y ?

(A) 2 @dl wed dlat a4t sRurd well Yl aq.

(B) d2 @il edr? efRat-i well sadu dierd g well ay Guaisll o
(C) et andl curd elRang wiell Wl ssig el

(D) d3d @13l ¥2d s34l % 514 4.

siot: S0 R ?

Fill in the blank with proper option

(A) Ax-taluL (B) Ax-121El 51

(C) 213l (D) A2 %

Al 2l slial. :

(A) eis : (B) Yacts

(C) Yuds (D) Yk

' F O S 9L 7 Fill in the blank with proper option

(A) s1@ (B) 5l :

(C) 5412 ; (D) 34
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